BIDERKETAK

1. Egin honako biderketa hauek:

4,5x 10 =
12,34 x 10=
63,98 x 100=
1,296 x 100=
741,284 x 1.000=
8,48 x 1.000=

2. Osatu honako eragiketa hauek falta diren gaiekin:

* 84X ......=640

* 8,54x..... = 85,4

o 0.836% .0 =836

* 953X .0 =95.300
% B289 Xouiinns =328,9
¢ 4456 % . = 445,6
ol ;. R =83.200

€ 9,001 ¥ 9.001

3. Egin honako biderketa hauek:

. 6,34 x 100=
* 74,02 x 10=

* 93,034 x 1.000=
e 7,234 x 10=

* 80,182 x 100=

* 74,1x 1.000=

9,03 x 10=
56,2 x 10=
8,28 x 100=
71,2 x 100=
99,1 x 1.000=
6,184 x 1.000=
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